HEBILEAEES

(B) Fr30F4H18

[

FE—BH

EANBUERINETES

—HI (BT ERFMIAERR)

() ¥rk3143H31H

(BT : M)
BENE FEA) RE(B) ZR(A)-(B) =3

BEEBEIA 149, 556, 000 149, 307, 327 248, 673

B o [EHEESHBIRA 0 0
% |ZBRBRERIA 17,000 4,146 12, 854
sz=| 7 [Z0fBORA 1,097, 000 1,098, 052 -1, 052
SETEINAGT (1) 150, 670, 000 150, 409, 525 260, 475

C| (AR 107, 112, 000 106, 597, 220 514, 780
| s 16, 890, 000 16, 399, 711 490, 289
% |EHER 12,795, 000 11, 866, 130 928, 870
e SR 0 0
| |zotoszd 1, 400, 000 1,568, 871 -168, 871
¥ | [EEFEg=E (2) 138, 197, 000 136, 431, 932 1,765, 068
BEEHEENTARE (3) = (1) - (2) 12, 473,000 13,977,593 —1,504, 593
| PR RS EmERIA 0 0
ue | [FEEREERSS B RIRA 0 0
= | [EER AR 0 0
8| B g EEaIRA 0 0
%| |[ERERZIRAL (4) 0 0 0
| [ERESEAETEEERL 0 0
& | X |ErEEmssE 1,935, 000 1,825, 400 109, 600
3 |1t | EIE SRR - e 0 0
g | BRI ES = A (5) 1,935, 000 1, 825, 400 109, 600
[ mEs aeiEEE (6) = (4) - (5) —1, 935, 000 —1, 825, 400 ~109, 600
R TR BRI A 0 0
215 [eotoEscLaImA 0 0
| [zotoEERASt (7) 0 0 0
B, |z AES S 10, 797, 000 10, 796, 980 20
€|y, [EOthDEBICL B 0 0
& = [zothosEs = mat (8) 10, 797, 000 10, 796, 930 20
ZOMOEBESINZ AR (9) = (7) — (8) -10, 797, 000 -10, 796, 980 -20
FRESE (10) 0
LRSS ERmast (11) = (3) + (6) + (9) — (10) —259, 000 1,355, 213 1,614,213
BRI ES RS (12) 24,771,223 —24, 771, 223
LE RN EeRs (11) + (12) —259, 000 26, 126, 436 —26, 385, 436

1/1




